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QUESTION 1

Which data center network-critical physical infrastructure (NCPI) component has the ability to control relative humidity?
A. Rack enclosure

B. Fire suppression system

C. Uninterruptible power supply (UPS)

D. Computer room air conditioner (CRAC)

Correct Answer: D

QUESTION 2

What are the three basic physical security categories that describe technologies for personnel identification? (Choose
three.)

A. Who you are

B. Where you are
C. What you have
D. Who you know
E. What you know

Correct Answer: ACE

QUESTION 3

Click the Exhibit button.
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Which air distribution method is displayed in the exhibit?

A. Flooded supply, flooded return

B. Flooded supply, fully ducted return
C. Flooded supply, locally ducted return
D. Locally ducted supply, flooded return

Correct Answer: A

QUESTION 4

An infrared scan of cabling can detect what two problems? (Choose two.)
A. An overloaded circuit

B. A loose connection

C. Compatibility errors

D. Electrical interference

Correct Answer: AB

QUESTION 5

Which three are network topologies? (Choose three)
A. Star

B. Ring

C. Tree
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D. Wheel
E. Pyramid

Correct Answer: ABC

QUESTION 6

Which three access control methods are examples of "what you have"? (Choose three.)
A. Fingerprint

B. Smart card

C. Badge with photo

D. Badge with bar code

E. Personal identification number

Correct Answer: BCD

QUESTION 7

Which statement correctly defines direct current (DC)?
A. Only high voltage is used.

B. Electricity flows in one direction only.

C. The circuit does not have multiple paths.

D. The circuit is directly attached to the power source.

Correct Answer: B

QUESTION 8

Click the Exhibit button.
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In the exhibit, which power problem is illustrated?
A. DC offset

B. Voltage fluctuation

C. Harmonic distortion

D. Frequency variation

Correct Answer: D

QUESTION 9

Which of the following is an example of equipment that would be monitored by a building management system (BMS) ?
A. A network router

B. A telephone switch

C. A data center server

D. A comfort-air conditioning system

Correct Answer: D

QUESTION 10

Which type of smoke detector has the highest sensitivity to particles of combustion (capable of detecting concentrations
as low as 0.003% obstruction per foot)?

A. Duct smoke detector
B. Spot type smoke detector
C. lonization smoke detector

D. Air sampling smoke detector
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Correct Answer: D

QUESTION 11

What is the purpose of the voltage regulator as a component of a standby generator?
A. To control voltage produced at the output of the prime mover

B. To control the voltage produced at the output of the alternator

C. To control current flow produced at the output of the alternator

D. To control voltage produced by the starter to start the prime mover

Correct Answer: B

QUESTION 12

Which statement describes a difference between fiber and copper cabling?

A. Copper is generally less expensive than fiber for long runs.

B. Copper is generally less expensive than fiber for short runs.

C. Signals can be transmitted longer distances over copper than multi-mode fiber.
D. Signals can be transmitted longer distances over copper than single-mode fiber.

Correct Answer: B

QUESTION 13

Which statement describes a three-phase power source?

A. Two voltage sine wave references consisting of two "hot" wires and a ground

B. One voltage sine wave reference consisting of a "hot" wire, a neutral wire, and a ground

C. Three voltage sine wave references consisting of one "hot" wire, one neutral wire, and a ground

D. Three voltage sine wave references consisting of three "hot" wires and accompanying neutral and a ground

Correct Answer: D

QUESTION 14
Cooling towers are a typical component of which heat rejection system?

A. Water cooled system
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B. Glycol cooled system
C. Air cooled split system

D. Air cooled self-contained system

Correct Answer: A

QUESTION 15

What is a disadvantage of an \WN\\' or capacity UPS configuration when compared to the other configurations?
A. Not scalable

B. Not redundant

C. Most difficult to design

D. Most recent design that is not yet widely accepted

Correct Answer: B
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